Name: Date:
Unit 6 PA
1
2
3 4
—
6
7
[
9
10
11
Across Down

6. Luminous side is on the left half of the
moon

8. the moon is fully visible to people on Earth
9. Gravitational pull is stronger when lined up
hads the least difference between high and low
tides

10. What is the first phase of the lunar cycle
(not visible)

1:1. 7th lunar phase a slit of light on the left
side

Word Bank
Sun Full moon
Spring tide Earth

Third Quarter Waxing Gibbous

1. 2nd phase of the lunar cycle (only a slit
visible)

2. gravitational pull is weaker when NOT lined
up has the least difference between high and
low tides

3. Rotates on its axis revolves around the sun
and contains human life

4. luminous half is on the right side of the
moon

5. 4th phase of the lunar cycle gaining light.
7. Is a star and gives the Earth light

Neap tide
waxing crescent

First Quarter
Waxing Crescent
New Moon
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